29

¢

X y;
“, 0y
U s XS

- = O 00~ N

- O

ju—y
=]

ot
(&3]

o
TS

—_
[=2]

—_
~J

19

20

12

N

22

23 =

24

PO |

26 -

27
28

ITEM

No QTY

W00~ U P N

e 00— s 00— N =

—_ e

=2
0 =3

et e o (e b b b bk b e b P

KV5/1

DESCRIPTION

DIFFUSER

EXHAUST BLOWER

TOP PRESSING (INC.HANDLE & BLOWER)

DRY VAC ROCKER SWITCH

No.4 x 3/4 PAN HEAD SELF TAP SCREW
TERMINAL BLOCK — 3 WAY

TERMINAL BLOCK HOLDER

No.6 x 1/2 PAN POZI PLASTITE

CABLE CLAMP (INC. SCREW & RUBBER GROMMET)
RUBBER CABLE GROMMET

CABLE RESTRAINT ASSY

No.10 x 1/2 PAN POZI PLASTITE

CABLE/UK PLUG PACK 0.75 3 CORE x 10M (230V)
CABLE/SCHUKO EUROPEAN PLUG PACK

0.75 3 CORE x 10M (230V)

CABLE 1.00mm 3 CORE x 10M NEOPRENE HO7RNF (110V)
PLASTIC MOTOR MOUNTING BRACKET

230V 1,000W DIRECT AIRFLOW MOTOR

110V 1,000W DIRECT AIRFLOW MOTOR

CARBON BRUSHES FOR 230V 1,000W D.AF MOTOR
CARBON BRUSHES FOR 110V 1,000W D.AF MOTOR
MOTOR MOUNTING RING MK.II

MOTOR MOUNTING PLATE

No.10 X 3/4 C/SUNK POX! PLASTITE

11" FILTER ASSY. MADE UP FROM 2 PARTS

a. 11" PLASTIC FILTER FRAME

b. 11" FILTER CLOTH

DRY VAC HOSE ENTRY SPIGOT

BOTTOM CAN ASSY (INC. SPIGOT, CLIPS & FEET)
CLP

PLASTIC FOOT (INC. NUT & SCREW)

BLACK FIBRE CASE

32mm % 2.5M HOSE ASSY WITH SWIVEL CUFF
32mm STAINLESS STEEL BENT HOSE END

32mm SWIVEL HOSE END FOR CRUSHPROOF HOSE
FLIP FLOP HANDLE ASSY

FOAM SILENCING — CIRCULAR

FOAM SILENCING — RECTANGULAR

"DRY VAC ONLY” STICKER

EARTH LEAD (270mm)

Mo.8 x 3/8 SELF TAP SCREW & M4 SHAKEPROOF WASHER
230V FILTER/THERMAL SWITCH (M1/608 TYPE)
110V FILTER/THERMAL SWITCH (M1/619 TYPE)

M4 x 12 PAN HEAD SCREW & M4 SHAKEPROOF WASHER
K1 DISPOSABLE FILTER BAG

32mm CREVICE TOOL

32mm DUSTING BRUSH

RETAINING CLIP FOR THERMAL SWITCH

HOSE ENTRY SPIGOT RETAINER

Wiring Diagram

ool BROWN
o -o——
TERMINAL
ROCKER SWITCH
BLOCK CRNAL
%’ TOP SWITCH
" PRESSING

[FROM SERIAL No. | | REF: 1/99




